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Question numbers 1 to 8 carry one mark each. For each question, four
alternative choices have been provided of which only one is correct. You have
to select the correct choice. -
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The value of4 .28 = 37 is:
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If —4is the zero of the polynomial p(x) = 22 + 11x + k, then value of k is :

(a) 40 (b) —28 (c) 28 (d) 5
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Maximum number of zeroes in a cubic polynomial are :
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T2 + 8x + 15 M 2 + 3x — 10 % DALS THEE -
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Common factor in quadratic polynomials 32 + 8x + 15and x* + 3x — 10is -
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AABCH ZA+ /B = 105% /B + /C = 120°F LB % i & -

(a)  65° b 8o £ 35 (d 45°
Ifina triangle ﬂBC, ZA+ZB = 105°, /B + ~C = 120° then ZBis; .

{a) 65° (b) s80° () 35° (d) 45°
TR afgerg e ABC & S FARTERME T oBaiaaE.

(a) 45° (b) &° (b a0° (d) 90°
A rt. angled isosceles friangle ABC is right angled at A. Then /B is -

@ & ... GEe = B (d): :90°
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Point (-2, 5) lies in the quadrant :
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If x# y, then (x, y) # (y, x), Butif x= y, then

(@ (xy = (v B) (Y #(y2)
© (®y)=(-x-y» (@ (x.y) = (-xy)
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Question numbers 9 to 14 carty two marks each.
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Find the two irrational numbers between 0.5 and 0.55
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Factorize : 212 + ¥ -2y -1
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Using suitable identity evaluate (103)°

aﬁ%ﬁ-ﬁ'ﬂfﬂﬁC:BDﬁTmﬁﬁﬁﬁmﬁB=CD

A B i D
In figure, if AC = BD, then prove that AB = CD
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In figure, if AB||CD, #APQ = 40° and /PRD = 118°, find x and y.
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Find the area of a friangle when two sides are 24cm and 10 cm and the perimeter
of the triangle is 62 cm.
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Question numbers 15 to 24 carry three marks each.
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Find the value of (729) 6
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q

Show that 0.235 can be expressed in the form £, where pand q are integers and
9
q#0.
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Find the value of a and b, when a + b 15 = ﬁ_j—;
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Factorize : a° — b*

AT x =2 T x =0 TFIE 223 — 532+ px + b A p T b F1 7 T FHFw)

If x=2andx = 0 are zeroes of the polynomial 2x> — 522 + px + b, then find
the value of pand b
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If the bisectors of a pair of alternate angles formed by a transversal with two
given lines are parallel, prove that the given lines are parallel.
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Prove that if two lines intersect, then the vertically opposite angles are equal.

1 T E ¥ AC=BC, /DCA=/ECB @M /DBC=/EAC & fag =if

DC=EC
D E
i T B

In the given figure AC= BC, # DCA = # ECBand ~ DBC= ~ EAC
Prove that DC = EC
D E

A C B
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Prove that “Two triangles are congruent if two angles and the included side of
one triangle are equal to two angles and the incliuded side of other triangle”.

Byt ABC # farg B 91 C & =1 AC 991 AB W WS T wa BE 41 CF ¥ @y

BE=CF I, g Fifore 7 (i) AABE = AACFA9T (i) AB=AC
A



ABC is triangle in which altitudes BE and CF are equal. Then show that :
(i) AABE = AACF and (ii) AB= AC
A
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In figure PQ and RS are two mirrors placed parallel to each other. An incident
ray AB strikes the mirror PQ at B, the reflected ray moves along the path BC and

strikes the mirror RS at C and again reflects back along CD. Prove that ABJ|CD.
P B Q
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A field is in the shape of a trapezium whose parallel sides are 25 m and 10 m,
The non - parallel sides are 14 m and 13 m. Find the area of the field.
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Question numbers 25 to 34 carry four marks each.

_QF':I=J§+1 Jg_l T %2 o+

e 2 + xy F1 A A i)
51 Y N ¥ Xy i
Ifx = ﬁji y =—\}%H—1 . then find the value of 22 + ¥+ ooy

319ET / OR



27,

28.

29,

30.

32,

M x =322, x° - L w1 9wy Fim
X

fx =322, find 3 - L
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Prove that - : : : 1 L

NN A Srw A ray y-sry t

T FF TGS BT 2 (2 + b+ o — (@a—b—c)’+ 4p® — 4c
Simplify and factorise (a + b + ¢)* — (a—b—c)%+ 4p° — 42

'ﬁﬁ:_’a+b+c=6ﬁﬂTab+bc+ca=11 ?ﬁa3+b3+c3—3-abc

Ifa+b+c=6andab + bc + ca = 11, find the value of a® + b + ¢’ — 3abc
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The polynomial bx® + 322 ~ 3 and 2" — 5¢ 4 b when divided by x — 4 Jeave
the remainders R; and R, respectively. Find the value of b if 2R, — R:=0

5 A(-2, ~2), B(6, 0) C(0, 4) 721 D (=3, 2) 1 % W 30eEE Fif9T) ABCD
gt Wifay e fafan f, fag A 9D fieg aqaiy 47 22

Plot the points A(-2, —2J, B(s, 0). C(0, 4) and D (-3, 2) on the graph paper.
Draw figure ABCD and write in which quadrant A and D Jje.
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If two parallel lines are intersected by a transversal , then prove that bisectors of
the interior angles from a rectangle.
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AABC is an isosceles triangle in which AB = AC. S:de BA is produced to D such
that BA = AD. Show that #BCD is a right angle.

D
A
B C
J9ar/ OR
& § A § AC=AE, AB=AD 91 /BAD= /EACI fag F=ifsgBC=DE
A B E

In the given figure AC=AE, AB=AD and £ BAD = £ EAC Show that
BC = DE -
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AABC H BC o1 W %) fag D ¥ E 39 7% 55 BD=EC 79 AD=AE| fuc
ST AB=AC
A
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In AABC points D and E are on BC such that 8D = EC and AD = ﬁEvaethat
AB = AC



